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BI4E 0500 1.118
=LE 0400  1.077
RifHfE 0400
[hEE SR E i 0.530
P = 2o0voEeS EDN TS EE JovoiE =Aavh)—k EPN T BiHT
H1 H2 Hi-1 H2-1 h1 h2 L1 L2 L BTE1 | BRE2 | FiY = | Brmi | Brm2 | FiS = | Brmi | Brm2 | TS = | Brmt | Bim2 | T | #E
1 2.500] 2.580 1.970] 2.050] 1.470] 1.550] 0.700] 0.700] 0.700] 2.202| 2.292] 2.247] 1.570] 0.360] 0.373] 0.367] 0.260] 0.708] 0.753] 0.731] 0.510] 2.795] 2.884| 2.840[ 1.990
2 3.250]  3.550 2.720] 3.020] 2.220] 2520 2.700] 3.450] 3.075] 3.041] 3.376] 3.209] 9.870] 0485 0.536] 0.511] 1.570] 1.152] 1.346] 1.249] 3.840] 3.634| 3.969] 3.802| 11.690
3 3.550] 3.550 3.020] 3.020] 2.520] 2520 4.700] 5.150] 4.925] 3.376] 3.376] 3.376] 16.630] 0.536] 0.536] 0.536] 2.640] 1.346] 1.346] 1.346] 6.630] 3.969] 3.969] 3.969] 19.550
4 3.550[ 3.550 3.020] 3.020] 2.520] 2.520] 5.000] 4.700] 4.850[ 3.376] 3.376] 3.376] 16.370] 0.536] 0.536] 0.536] 2.600] 1.346] 1.346] 1.346] 6.530] 3.969] 3.969] 3.969| 19.250
5 3.550] 3.550 3.020] 3.020] 2.520] 2520/ 5.000] 5.000] 5.000] 3.376] 3.376] 3.376] 16.880] 0.536] 0.536] 0.536] 2.680] 1.346] 1.346] 1.346] 6.730] 3.969] 3.969] 3.969] 19.850
6 3.550[ 2.800 3.020] 2.270] 2.520] 1.770] 5.000] 4.850| 4.925] 3.376] 2.538] 2.957| 14.560] 0.536] 0.410] 0.473] 2.330] 1.346] 0.879] 1.113] 5.480] 3.969] 3.130] 3.550| 17.480
75.880 12.080 29.720
7 2.800] 2.600 2.700] 2.600] 2.400] 2.200] 5.000] 4.850| 4.925] 3.019] 2.007| 2.963| 14.590] 0482 0.465] 0.474] 2.330] 1.116] 1.001] 1.059] 5.220] 3.130] 2.907] 3.019] 14.870
B 23.100] 23.850 90.470 14.410 34.940 104.680
=[ 90.000 =[ 14.000 =[ 35.000 =1105.000
£ - R HER BAf 5 = | EE
JKIRE VP50 90470  + 3.000 &Fr | 30.000
0500 X 1.118 m 0.559] 0.600] 0.107
0559 X 30.000 m | 16.770] 17.000] 4.10Z&
FhEEMmELRE
BT4JE 0500  1.118
EHE 0500 1.118
Xifitg 0.400
P B EE avoy)—k EEES . B . B #h4t
H1 H2 Bl | Bim2 | FiY = | MW | @2 | FY | e | BimEi | Bim2 | T | e | HE
1 0.500] 0.500] 23.100] 0.325] 0.325] 0.325] 7.510] 1.118] 1.118] 1.118] 25.830] 0.506] 0.506] 0.506] 11.690
&t 23.100 7.510 25.830 11.690] 0.000
=] 23.000 =| 7,500 =| 26.000 = 12.000] 0.000
10mZY 3.300 10m&Y 11.000 10mZ&Y 5.100
23R FER Bif i #e | BHE
HEILZIL t=0.03 0900 + 0.930) = 2000 X 0.030 X 23.100 m® 0.634]  0.600
10mZY  0.030
B4t t=0.01 0.325 X 2.000 m’ 0.650] 0.700
10mZiY  0.030
KIRE VPp50|5RMETE| 25830 X 1118+ 2.236 m’_ | 12915
e[ 12915 + 23100 + 1.118 m 0.500
12915+ 3.000 BFr | 4.000
0.400 X 2.000 + 0500 X 2.236) —+ 2.000 m 0.959]  1.000] 0.20Z&
0.959 X 4.000 m 3.836] 3.800] 0.907
£ - R HER BAf 5 = | EE
A—KL—JL __C-2B 2310  + 0.50 m | 23.600] 24.000
GR##zAE D13 12.000 X 8.290 kg | 99.480
t 0.099]  0.099




JOvOiEHERET

% * B % & g = Bl § B = g =

R HU—F m 9.00

10mZl)
ary)—k 0 ck=18N/mm? /& 0.400 0.450 ) — 2000 X 0100 X 5.000 m° 0.213 0.200 0.40
2 IME 0.100 2118 X 5.000 m? 1.059 1.100 2.10
HiEa 49—k m 28.70]  29.000

10mZl)
ary)—k 0 ck=18N/mm? /& 0.350 0550 — 0250 X 0450 — 2000 ) x 28700 m? 3.910 3.900 1.40
2 IME 0.350 0.100) X 28.700 m’ 12.915]  13.000 450
E R RC-40 t=0.20 0.750 28.700 m’ 21525 22.000 7.50
B #h#f t=0.01 0.350 0550 — 0250 X 0450 — 2.000 m’ 0.136 1.40

0.136 28700 — 10.000 m’ 0.390 0.400

HEEIF m?’ 21525 22.000 7.50




NaET

% * % g g = Bl § o= g =
2—18/hOIET
avy1)—k 0 ck=18N/mm* &L 0400 + 1114 ) + 2000 X 0.714 0.300 3 0.162
2136 X 1114 x 0.300 3 0.714
i 0.876 0.900
2 | 0400 + 1.114 ) =+ 2000 X 0.714 2.000 m? 1.081
2136 X 1114 x 2.000 m? 4759
2850 + 0.714) X 1118 X 0.300 m’ 1.195
Hi 7.035 7.000
BIET HEES 2850 X 1114 x 0.300 Hhm? 0.952 1.000
2—28/hOIET
avy1)—k 0 ck=18N/mm* &L 0400 + 1124 ) + 2000 X 0.724 0.300 3 0.166
2226 X 1124 X 0.300 3 0.751
i 0.917 0.900
2 | 0400 + 1124 ) =+ 2000 X 0.724 2.000 m? 1.103
2226 X 1124 X 2.000 m? 5.004
2950 + 0.724) X 1118 X 0.300 m’ 1.232
5t 7.339 7.300
BIET HEES 2850 X 1114 x 0.300 Hhm? 0.952 1.000
[EXD)
av4y)—k 0 ck=18N/mm* &L 0.876 0.917 m° 1.793 1.800
B | 7.035 7.339 m? 14.374]  14.000
BT HEHES 0.917 0.952 #hm? 1.869 1.900




FekaHo)—tT

t=0.10

=g R ) —k . v —MERE | avh)-b| B MR EEEHM S HER %
a b c s pEman| BAE | ¥E e |pamaw| BEE | $E (sewulmamsr| BAE | BiM | =

1 3540] 2920] 2530] 4495 3.645] 0.089 0.356] 0.292] 0.219 3.426] 0.292] 0443 2.910
2 2530 4580 5590 6.350] 5.712 0571 0.458 5712]  0.458 5.254
3 5590 4580 2530] 6.350] 5.712] 0.140 0.557 0.344 5.368 0.573 5.139
4 2530  9.490] 9.410] 10.715] 11.841 1.184] 0949 11.841]  0.949 0.455| 10.437
5 9.410] 9.070] 2.500] 10.490] 11.337] 0.235 1.110 0.680 10.657 1.134 10.203
6 2500 6.300] 6.780] 7.790] 7.875 0.158] 0.772 0.473]  7.402 0.788] 0.450] 6.637
7 6.780] 6.040] 2510 7665 7538 0.170 0.737 0.453 7.085 0.755 6.783
8 2510 5.300] 5.630] 6.720] 6.617 0.133] 0.648 0.398]  6.219 0.663 5.954
9 5630 5.040] 2500] 6.585] 6.300 0.630 0.097 6.203]  0.250 6.050
E 66.577 6.565]  1.699 63.913 59.367

6.600] 1.700 64.000 59.000




%L

% F RO it g = B 3 H=E| E*E
BEET t=0.20
BI4E 0500 1.118
KimE 0.400
= = I BEELT
BS ] w2 | R [FE (BEe ] 55 | BB
1 0.300] 0.700] 1.000] 0.335] 0.783] 0559] 0559
2 0.700] 2.100] 5.400] 0.783] 2.348] 1.566] 8.456
3 2100] 1.500] 5450] 2.348] 1.677] 2.013] 10.971
§ 11.850 19.986
=] 20.000
KikE BEEE VP65 19.986 X 1118 = 1.118 m? 19.986
19.986 — 11.850 — 1.118 m 1.509
19.986 — 3.000 sl 7.000
0200 X 1.118 m 0.224 0.200 0.004
0224 X 7.000 m 1.568 1.600 0.304
5% 50.000 — 3000 x 0200 X 1118 m 3.727 3.700 0.907
50m2:4Y) 50.000 — 3.000 &rr|  17.000
17000 X 0.224 m 3.808 3.800 0.907
/S‘&Alb\jl
SEADS 0.50 X 1.20 X 2.00 4000 X 2000 x 2.000 m 16.000
5000 X 4000 X 2.000 m 40.000
4000 X 2000 x 2.000 m 16.000
m 0.000
it 72.000]  72.000
% B AE#1 t=10mm (1200 + 0500 X 4000 + 0250 X 3.000 ) X 2000 x 4.000] m? 31.600
(1200 + 0500 X 5000 + 0250 X 4000 ) X 2000 X 4.000] m? 37.600
(1200 + 0500 X 3.000 + 0250 X 2.000 ) X 2000 x 1.000] m? 6.400
1200 X 0500 X 4000 + 1200 X 0500 X 3.000 m? 4.200
it 79.800]  80.000




